Chapter 9sec1 -5

1) Solve the equation: 2(8))(_3 =24

2) Expand the logarithms as separate simpler logarithms with on exponents:

4a°b*
log, 3
c

3) Write the logarithms as a single logarithm with a coefficient of 1:

1 1
log57+510g5x+510g5y
4) Rewrite into exponential form: logz(éjz—S

5) Rewrite into logarithm form: 4°=4096
6) Approximate the answer to three decimal places: log,0.68

7) Compose the two functions then determine if they are inverses.

1
x)]=—x+21 h{x)=7x+3
flx)=7 (x)
Answers: log4 +5log a + 2log b - 3log ¢
1) 4.195 approximate 2) A2 222202 B2 23322
3) lo (7 X ) 4) 2—5_i
8: y ”

5) log, 4096=6 6)-0.176
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